Market Failure

There are many buyers and sellers for each commodity, then competition forces firms to arrange society’s scare resources in just the way that a perfect planner would, without any need for the impossible calculations that central planning involves. But I’m sue it has occurred to you that in some industries in our economy we don’t have very many firms, so we don’t have much competition. 

This summary will include the extreme case of monopolies in our economy and how they affect the market. This is a situation in which there is only one seller of a commodity. There are two ways a monopoly can develop, through deliberate government policy, and without government intervention. Where one private firm takes over all competitors through a series of mergers.

We start by considering a very common form of government created monopoly, a marketing board. Some of the most competitive industries that we could have in Canada are in the farming sector. Consider the egg industry, where there’s a large number of farms each producing a very homogeneous product. For years we have had provincial marketing boards for eggs and other products. All producers within a province must sell their eggs to the marketing board. The marketing board then acts as a monopolist and sells the eggs to the rest of the community after making sure it withholds enough supply to keep the price up.

Demand and supply intersect to determine the market price, which is taken as given by each individual framer who is pictured in long-run equilibrium in the left part of this graph. Now suppose a marketing board is created and it assigns a quota to each producer limiting output to just a certain amount. In the overall industry, with the total amount of goods being sold limited by the quota, the marketing board can now charge consumers this higher price, the individual firm is allowed to produce so much output and sell it at a high price per unit. Total revenue is the price times units.

Total cost is cost per unit time the same number of units. So with the marketing board, the farmer is now making positive economic profits. This outcome is bad for consumers because they are getting less output at higher prices. In the competitive outcome, without the marketing board, society obtained this good at the lowest possible price, since each farm was operating at the minimum point on its average cost curve.

Monopolies force consumers to pay a higher price then they would if the market is left free. This makes it hard for demand to stay as high as it should.

